





I - - IR
: 33 ‘é‘ / = -13- Ql. The price of sugar is increased by 33?1,%. If the 3
'& = 5o / expenditure should not be increased for a housewife,
i _ she will have to reduce his consumption of sugar by
S = 33'3","/ ' T P2 3 L’ the percentage -
_"1_ > as ./.j \L coy Uy - ?ﬂaﬁasmﬂzﬁssi%j[@aa@asmwﬂaﬂm
— \‘_/3 3 @ud A fhaa ufdera & et He 3=t aifde, ad &
:!S' =[] IASI & 3afdafdd 22-
A = 1L <. ) b) J L 40E (A) 30% (B) 40%
¢ E l E () 25% (D) 60%
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| & ?.é 1 _é_ Q2. The price of pome granates is decreased by lsé%.

By how much percent must a customer 3 increase his

P - ¢ . & consumption so that his expenditure remains the
c 5 ‘. ﬂ same?

masaimme-aﬁaﬁﬂamasmmaﬁmaﬁ

, sreft w3 fbaat faera H1 gt weeft 2oh, e

#

MY A s uRada A a -
(B) 22%

(C) 26% (D) 24%
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4
L Q3. The price of petrol is increased by 14-3-%. If the

P> 1 - 8 expenditure should not be increased for a students,

she will have to reduce his consumption of petrol by

A

[
(@\
-]

the percentage -
W%mﬁﬁlﬁ%qﬁamasmﬁmeﬂ”aﬂ
—é‘*‘w ATft wUa A fhaa ufdera &t wft &z &t aifze, Ao
> 1&ly fo 35ep1 &l srufdafda 22 -
i (A) 30% (B) 40%
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o = L.
el 3 & Q4. If the price of pertrol is increased by 20%. By how
b o ; much liter of consumption is decreased. So that the
- expenditure of month will be constant. When his
C

= original use is 36 litre.
afe dgie &t Hlara B 20% Fe1 f2ar Are al fagar Siee
' | 3UART B Heanl g0 drfds A & 3fafda 22 af

aeb ’ yTef3Rl 3UAT 36 Siee
= ws
(€)7 (D)8
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Q5. The price of sugar is decreased by 30%. By how

much kilogram of consumption is decreased so that

expenditure is decreased by 5% only his original

consumptionis 35 kg.

afe disft 6t Hlera Bt 30% wer fEar I &t fas fam.
IYANIT B! FTel AT aifds AfAs® & das 5% uel f2ar
I & b 3THT URfeRs 3 35 fHal 2

- sk

_
(c)13.5kg -~ <xo (D)12.9kg
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Q6. The price of tea is decreased by 30%. But a family

P ° ! purchased 32 kg more tea. So that expenditure will be
C 25 P decreased by 16%. Find current consumption ?
© ?N:%uﬁmﬁmaaﬁso%mﬁmmaﬁmwuﬁm
Erp 25 3a 32 e ara Afde wdfiear ¢ at wfds ad 16% HA
2 gia1 &, dt aderTel I1d &1 IYLT STd Hel
it

Q012 Heg  AS

lb?f X

—X A (A) 196 kg (B) 194 k¢
- T 5 i
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Q7. The price of rice is increased by 20%. Due to this, a
family uses rice 40 kg less. So that the expenditure

ol | increases by 5% only. Find original consumption?
° ? =t araes 6t Hierd 20% T A £ |t v ulRar 40 A Ha
) . WW%WWWWS%ﬁW%lmﬁE

Fud fbastt oft 2 -
(x) 328 kg
(C)350kg @ (D) 300 kg

S/ 2) _'_
R0
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bol 2 4= g . s .
+80 Q8. The price of sugar is increased by 40%. Due to this
a family use{ﬁ kg less sug@ So that expenditure will

’ decrease by 10%. Find present consumption ?
ERIMEE afe Hisft &t Hiera 40% g8 AE a1 ve ulfar 20 fFa A
ki ' it waor Hear & AT & 10% S & AraT £ 9t adaArs

-9 @AY ST e ?

y (A) 40 kg (B) 45 kg

i‘%ixﬁ ,Q.H (D) 55 kg
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Q9. If the price of tea is increased from 125/kg to

150/kg then a family decreased its consumption by 2
kg. Now its monthly expenditure increased by 10%.

Find original and present consumption ?

a1g &t Hidaa 2 125 [/ fFSt & 2 150 | Bt &8 T2 v
ufare & 91 &l @AUd 2 f[Fa! B He ot fose oft 37 ulkare
as’tmﬁaszaafm% d¢ 141 at ar&dfde 9 addiTel &A9d Sd

| —> 9 w30
(A) 26 kg, 28 kg \ B) 24 kg, 22 kg

(C) 28 kg, 26 kg (D) 25 kg, 29 kg
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Q10. A reduction of 230/ kg enables a man to purchase

2 kg more rice for 720. Find original price?

71 Q0 1 Qo arae &t Hiera A 230 6t ufd fbn. 6t Haft @A & v
(x-20)  ° aafes 2720 H 2 fat Tt Arae @ uran @ at urfts
%lmg $ora st He
PR (O B

S 124 (c)130 (D) N0
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QIl. A reduction of 2 [ kg in the price of sugar chinu can

purchase 4 kg sugar more in 16. Find the original price.

dieft &t Hlera A 22 ufd fE. Bt Heft 24 U2 v aAafh diq
4 et ittt 2 16 A waTer Wéte urar &, at uRfREle Hiad

SiTd e ?

(A) 3/kg %

(c) 5/kg (D) 6/kgy
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Q12. Due to a reduction of 50 paise [ dozen in the price

of pens, Sunita buy 1 dozen more pen for 66 then the

original price of pen/dozen?

Yot &t FHlera A 50 98 Ufd Tofor Ht Heft 21 A Foftar ze6 A
U Gutel Uel wATGT WIS UTdl € al UTefedtas dhierd id Hel
(A) 5/dozen (B) 4/dozen

(c) 6/dozen (D) 3/dozen
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Q13. The price of sugar has decreased by 15%. By what
percentage can a person increase the consumption
so that there is no change in the expenditure?
dieft & I A 15% &t Bl g3l B Afh TAud A fHaa
yfderd 6t gfg &2 afs Ta A B uRads s 2 2

( A) 300, (B) 300,

(c) %/. (»)) 23—"%
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Q14. Due to 25% fall int he rate of eggs, one can buy 2

dozen eggs more than before by invest- ing 162. Then

the original rate per dozen of the eggs is:

3131 ol a2 A 25% &t fTerae & BRI, HiF off 2162 Hedk 2
gufal 3P R T TFar g, A Ufd TAA SR Bl Fo T2 &
(A) 22

(B) 24

(c) 27

(D) 30




Maths By Pradeep Sir

QI15. The price of edible oil is increased by 25% and to
maintain the Budget Rahul reduces the consumption

by 20%. Then the expenditure change is?
AR & aa 6t HloAd 25% 96 ATt £ at 3 g9 B! T

ZHa & AT 3T A B1 3UTWN 20% HA &He AT Al AT A
uffade SiTd &e ?
(A) 44%
(B) 24%
(C) 20%
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¢f = 261 . e
e Too Q16. The price of a commodity is increased by 36% and
S
< the quantity purchased is decreased by 30%. What is
P= A5 @ 3y the percentage increase/decrease in the amont spent
on the commodity?
C 35 o T i

faseft aeq &t Hlora A 36% H IR &8 R BA S I A=A A
30% i et g1 aeq U2 = 6t I1E 2ifel A fasaat wfdera &t

g A Ht gde 2

(A) 6% increase < (B) 4.8% increase\()

(€) 6% decrease
<
(0
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Q17. The government reduced the price of sugar by

15%. By this a consumer can buy 7.4 kg more sugar for
1258. The original price per kg of sugar is?

ATHIRE A dielt & FHeT B 15% "l AT 38 SR THh
e 2 1258 & 7.4 fHarma dief sifde wdle awar g, at
ufa faine disft &1 refals Fe sita Hifae ?

(A) 25.5 (B) 30

(c) 27 (D) 28
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Q18. The price of sugar is increased by 24%. A per- son

wants to increase his expenditure by 15% only. By
what percentage, correct to one decimal place,

should be reduce his consumption?

afe disft & e A 24% & I @ Tt 2 30k HE A
3T T A Hae 15% H & i Hean argan g, a1 38 Aud

A fhaa ufdera &t st Bt 2ft 2
(A)7.3 (B) 7.1
(c)6.9 (D) 7.5
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o0 £
LO )3
F > X O

Q19. The price of rice falls by 35%. How much extra
quantity of rice can be bought with the money that

was sufficient to by 104 kg of rice previously?

arae &t diara A 35% & FMerae st 81 5ma &2 30 &
SUT & °rae &t fhastt e airan & o awdt 2, it
UES 104 fhasl urae @éteat & fAe vafa ar 2

(A) 42kg (B) 45.5kg

(0) 52kg
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Q20. A reduction of 25% in the price of wheat enables

Amit to buy 2 kg more wheat for 240. The price of

wheat per kg after reduced?
NE & IJca A 25% Hl Haft & P 3ifAa 2 240 & 2
fEarna Ag At wde asar g, at et & arg g &

HAATATE ?

0

(D) 40




